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Al 10,304
O=&t| 5,000& »2H %249 2,490
Al 2,490
O EH| 5,000& »2H *249 2,490
Al 2,490
ONs< 1,440
. BHS At 40,000& x2H =128 960
Al 960
., = - HlH 20,000& x2H =12 480
Al 480
OY&E=IHY| 400,000& x2H x23| 1,600
Al 1,600
301 et A3 401,659 345,599 56,060




2A: A2
Mz HZE MEstd 4 2 I HEs(sH3Es/HIIS)
Sl Ny B 2 (&9 ®M
- _ _ poE N
2N -3 - c2(3H) - NEME - HES 0] AFCH lOﬁ/l\_Fgﬁ Hns
Al 401,659
12 J|EIE2 A2 401,659 345,599 56,060
O XEF0 MY IS2H 25 K2 (204 )
401,659,000& 401,659
Al 401,659
SSAY S#F A 202,032 228,033 A 26,001
Al 101,016
= 101,016
101 2124 d| 199,706 218,731 A 19,025
Al 99,853
= 99,853
402t 22Xse 199,706 218,731 A 19,025
Ot F X d e 102,032,000& 102,032
Al 51,016
= 51,016
O=24=20t3 & 2#F3 FH| 97,674
oJlza 44,4103 x6H *200 53,292
Al 26,646
= 26,646
(@F=3=TEa =4 44,4103 *x6H+90 23,982
Al 11,991
= 11,991
O= &l 5,000& x6Y x200 6,000
Al 3,000
= 3,000
O EH| 5,000& *6Y x200 6,000
Al 3,000
= 3,000
OJInE=Y 3,600
. BHS Xt 40,000& x6H x10& 2,400
Al 1,200
= 1,200
. = - HlH 20,000& x6H x 102 1,200
Al 600
= 600
O & =FItY| 400,000 x6H x23| 4,800
Al 2,400
= 2,400
206 M 24| 2,326 9,302 AB,976
Al 1,163
= 1,163
01 MZHl 2,326 9,302 N6,976
o24asHUY S#ZEHEHE FAEF? 2 2,326
O=s3ssMHIISE, &2 S 2,326,000 2,326
Al 1,163
= 1,163
Mol S-S Z2A3t0H 2 29 178,500 0 178,500




SA: BRI D
M FEE MBHY I8 L Y HEES(BY2S/HIIE)
ool XAFZ 2L (Etel: &8
_ _ _ N E
SA-EFH - SA(SAH) - MREAY - BES Off &F K @Egj Hws2
Al 89,250
= 89,250
201 Yer2 Y| 178,500 0 178,500
Al 89,250
= 89,250
01 Ak 22l 121,500 0 121,500
oURZ 114,000
OMYDIZYEI| ZAIDM0RH YR
95,0002 * 100CH * 12 114,000
Al 57,000
= 57,000
oger+g| 7,500
OMYIIZHEI| ZAMHEH HLHTF RIF
150, 00024 %5074 2 7,500
Al 3,750
= 3,750
02 BBl 57,000 0 57,000
02222 2 MA 48,000
OMIIE2HEI| ZASHe &2 2 5lM
2 40,0002 *100CH * 12 48,000
Al 24,000
= 24,000
OAl&FHIRX bl 9,000
OMUDIBYESI| AN OISEX L R
Xl bl 180, 000! %5074 A 9,000
Al 4,500
= 4,500
M0y L HAWEE 205 1,439,465 1,350,448 80,017
Al 27,400
T 1,412,065
MEe dem el 164,006 105, 115 58,891
101 124l 104,638 66,871 37,767
04 JIARD2ERS S 104,638 66,871 37,767
oOMEEE duole 104,638
OplEt= 44,4102 6 2102 55,957
OFY+Y 44,4102 %62 x95L 25,314
On S| 5,0002 x6% 2102 6,300
ozl 5,0002 x6% 2102 6,300
OF[E-F4= 4,800
. X 40,0002 *62 * 102 2,400
. E S 20,0009 %122 * 102 2,400
OYEEIH| 400,0002 +6%4 +23] 4,800
oMMEEE 97,171,0002%0.012 1,167
201 2Bre | 24,845 34,026 £9,181
01 Ak 22l 12,678 23,358 10,680
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HES MEEY T4 o
MY L KT
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0
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e

. SR () -

20
B
2

oger+gH| 12,678
OdgRe £28 7Y 8,838
. BY 4002 %320 % 12 1,536
. BEX 7002 %1500 %122 126
. AR 3,0002! 57 +63| 90
Rt 2,0008 *107H*63] 120
. B&ED 20,0002 1074 * 122 2,400
o 5,500 %6l x23l 66
. OFH(SERE 1002)  3502%6,000% 2,100
. OHCH(HEHS 2002) 8002 +3,000% 2,400
OWes M4 Ay 6,0002 x20S * 122 1,440
OMER 201Ul 892 200,0008 122 2,400
02 ZB22H| 12,167 10,668 1,499
02222 L MA 6,800
OWel Mle3 50,0002 12 6,600
OWEX SIEA 4012 100,0002! x23 200
oot 2| 1,367
ougrR(sR) 7 1,367 %1,000 £ 1,367
OAEFHIRX I 4,000
OAI& - JIHFH SXE4 1,000,000 43! 4,000
206 M Z Hl 1,953 1,838 15
01 HZ Hl 1,953 1,838 115
OMEEE NYE AS%E S Y 1,953
OASHE 20,0002/ 5 ¢ 128 1,200
OYAIHIE HE(FR) 7Y
1,8018!%400 4 721
OYAIHIE ANRY 74,0002 87N 32
301 LerE A 320 280 40
12 B2 42 320 280 40
OMBEE Hgole 22 (&, 54)
20,0002 +8 23| 320
401 Al HI L2 OHY] 30,000 0 30,000
01 Al &t 30,000 0 30,000
OMEBSE WL AZS &X 30,000,000 30,000
403 XHXI B M S XH2 0 & 2,250 2,100 150
02 BII2SOlICHSHCHE AL b 2,250 2,100 150
OMEEE NEE HEES M2l
25,000 7. 5E 128 2,250
nEHEE 2 egne 278,628 261,233 17,395
201 2 Br2 2| 73,910 67,278 6,632
01 At 22/ bl 21,910 35,710 A13,800
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et degstd X
Moz y 2 A

SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
Oget=&H| 18,590
OsEs oI 500& *3,0000H *4& 6,000
Os2 8==% M 60,0003 »48H4 2,880
OMESBHALHAEY BHYB24R
710,000& *12] 710
S0 I+ - Ot RAXE A 9,000
. NEHESHE 2tE M - £X
3,000, 000& 24 2~ 6,000
. =1 Jt7 - Jt™ =2ldl  60,000& *5021 3,000
on =l 320
OSAZ2% ¥ HEESE 012 NTHERd
80,000& »4H 320
Ou=s M& - =4t 6,000& *500& 3,000
02 2244 2,000 1,568 432
0232= ¥ HAl 2,000
ORER= 2,000
. et 2503 =3, 50004 875
. S 1,750& »6000H 1,050
. SIS 1,500 5004 75
03 S At2 G| 50,000 30,000 20,000
ous&H 50,000,000& 50,000
202 o4 4l 1,200 1,200 0
01 =2 A b 1,200 1,200 0
o222yl 1,200,000& 1,200
203 P =&l 500 500 0
03 AIEF= & AR 500 500 0
OXNENEE 2 JRF& 500,000& 500
204 A= H| 2,400 0 2,400
03 EZ YR EHI 2,400 0 2,400
o sl 50,0003 x4 H«12& 2,400
206 M= 4l 51,918 64,635 A12,717
01 =4l 51,918 64,635 A2, 717
Oouns =YD Lot At 1,200
odAn +¢ 40,000% *204 800
OHEXE, 28, 240 2¢ 400,000& 400
omMg=ssg 1% 2= MY 31,818
oz 1Y 2,700&+9,980H 26,946
o4&E 1Y 2,800& *1, 74004 4,872
oMesE =iz 450t XI#) 18,900
(O100 £ OHCH 3503 +50000+1200 & - & 2,100
Q200 £ OFCH 800& *1,0000H*1201 & - & 9,600




A EF el
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HI: HAES MEHA T4 Y N WES(BIES/HIIS)
Sl MY D|2E 2 e 20s (&te @2
_ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
o2y 3,000 20001204 & - & 7,200
301 Lt A= 148,700 127,620 21,080
12 JIEtE &2 148,700 126,500 22,200
ONMEEE £HHLAH(RBHS, 25 S) o=
2 9,500,000 122 114,000
ONME2E HAU20 [HE A2
114,000, 000 *30% 34,200
O13BBE AEIAIHZE ADIAZ
20,000 «25A 500
SAZSRHIIS Hel 939,631 944,300 4,669
201 L2 AH 8,220 8,220 0
01 At 22| 8,220 8,220 0
OYdet=ZH| 8,220
OEE2 oI 2002 35, 000 0K 7,000
OFHNE AEIHA ME 5002 *1,0000H 500
O 340 M 60,0002 * 1204 720
206 M 2H] 22,757 21,051 1,706
01 XH 24| 22,757 21,051 1,706
OSAZSRHIIZS SM d322)| 7 2,592
Os2=HEI(1204 W) 7Y
72,0002 *36H 2,592
OSASRHIIS Z2M dF=22)| d2E2=(E
) M= 19,375
OHt=x=e(51) 29921 %28, 020 x 128 9,751
OAF2AFLE (204 ) 3221%15,5000 « 12& 5,952
O2=F=H(1201) 3424%9, 000 12& 3,672
OSASRHIIS Z2M 2D d22=(E
) 228 M 70
OSAE=HEII(1201) 70024 10004 70
OHAZR 248 1Y 36,000 «2004 720
301 Lt AZ 14,104 16,884 A2,780
10 HAIAH BA2 420 420 0
OSASTHIIS 2% ¥ 22z ns &4
XS4l 7,000 x30H #2353 420
12 JEtE &2 13,684 16,464 A2,780
OJIZMELEZI SASTHIIS SRES ()
U 222 X 13,684
OHs=e 90! *1,077 NI CH*8IH x12& 9,306
O=2s= 800! *456 M| CH* 122 4,378
307 @12+0| ™ 894,550 111,408 783,142
05 QIZ2tRAES 894,550 111,408 783,142
OSA2FRHII2 | HMlyl 109,237
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M HHe MEsSH XM 2 U2 HEZ2(SHEES/HIIZ)
Sl MY D|2E 2 e 20s (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
OBIZtAISE HElHEE 2 (HIAHAl)
90,7502 *776 = 70,422
ElHIZAIE X2l 69, 11021 +388E 26,815
OAZ2FAIE Held 25,0002 *480= 12,000
OWUXIBAIE M2l 62,8202 *12,501€ 785,313
HEZE 2 HEX E HEE 22l 22 12,400 9,800 2,600
Al 5,000
= 7,400
201 L2 AH 2,400 4,800 A2,400
01 At22telH 2,400 4,800 A2,400
O Bt==H| 2,400
OHgZs ¥ HAEX =H 25|
400,0002 63 2,400
206 M 2H] 10,000 5,000 5,000
Al 5,000
= 5,000
01 2] 10,000 5,000 5,000
OHEZS ¥ HAEX S HEE 22x=HE
=N 100,00024 * 1007 & 10,000
Al 5,000
= 5,000
A=HIIS =T EHS 44,800 39,000 5,800
Al 22,400
= 22,400
301 Lt AE 44,800 39,000 5,800
Al 22,400
= 22,400
12 JEtE A2 44,800 39,000 5,800
OHHY, sEig =H B2 44,800
OHHlIY 1202 340, 000kg 40,800
Al 20,400
= 20,400
Osely 800<! *5,000kg 4,000
Al 2,000
= 2,000
A SHAH| (A2 (JIEHDIE) 2,764,994 3,003,837 238,843
ol dH|(atZ2eln) 2,636,190 2,875,033 238,843
ol 2| 2,636,190 2,875,033 238,843
101 @124 4| 2,636,190 2,875,033 238,843
01 B2 135,219 0 135,219
(OE=} 135,219
OAZtA2 R4 8 0432 x45A| 2Hx28%H 121 135,219
03 LI HLZ2ZRE 4 2,500,971 2,875,033 A374,062
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1,462,150 #4512

1,802, 1503 45 x200%
1,802, 1503 45 x100%
1,802, 1503 452 »300%

40,0003 x45& » 128

20,000 x45F x2H «12&

90,0003 x45H « 123
90,000 »45H »12&
50,0002 »45E x12&

160,000& 45 123

1,802, 1503 45 120%

12,2003 »45E «30 Al 2H+ 123
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98,3403 #45H 70
61,7603 »45H 20

345,900& 453 #4323
51,2003 *45& +43]
100,000& 45

55,0003 »45H 3
300,000& 45«1
50,0003 »45&H <2 2l
15,0002 x45F « 1
15,0002 »45H « 1 il
20,0003 »45H 2
7,0003 *45F »2JH
3,000 =45 *5H

40,000,000& »5&

80,000 x2H »2&

50,000 »2& »22 &l
90,000 x2H *12&

60,000,000& *0.012

2,297,571

789,561
486,582
162,194
81,097
243,291
140,400
43,200
21,600
21,600
48,600
48,600
27,000
183,717
86,400
97,317
508,869

199,098
309,771
55,584
71,478
62,262
9,216
4,500
29,880
7,425
13,500
4,500
675

675
1,800
630

675
200,000
200,000
3,400
520

320

200
2,160
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A SE 2l

M AL (SF2eln)(JIEH/IIE)
el Jl2Zd (3 2el) (el &)
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
Jl2dyl(gZ2elnt) 128,804 128,804 0
Jl=2 A 128,804 128,804 0
201 et 43,964 43,964 0
01 AtR22IH 43,964 43,964 0
ORI =1] 15,740
OB A ARY 15,740,000 15,740
CEEL] 28,224
O A2 28,224,000 28,224
202 04 Hl 80,640 80,640 0
01 204 Hl 80,640 80,640 0
OZLH O 80,640,000 80,640
203 g =&l 4,200 4,200 0
04 EN2YYRFNH 4,200 4,200 0
ORANSAYRFAY 350,0002! « 12 4,200
MRS (A2 D) (BHBLS/HIIS) 21,740 99,083 ATT7,343
LAE AN X & 21,740 99,083 AT7,343
A& B 29 21,740 99,083 AT7,343
309 HE3 21,740 99,083 AT7,343
02 BAL- STHHAXES 21,740 99,083 AT7,343
OZTHNEE ¥ SASRHIIE €225 (H)
=3 =2 21,740,000 21,740
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